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Section 2: Writing and Language Test

QUESTION 1.

Choice B is the best answer because it provides a noun, “reductions,” yield-
ing a grammatically complete and coherent sentence.

Choices A, C, and D are incorrect because each provides a verb or gerund, 
while the underlined portion calls for a noun.

QUESTION 2.

Choice B is the best answer because it o!ers a transitional adverb, 
“Consequently,” that communicates a cause-e!ect relationship between 
the funding reduction identi"ed in the previous sentence and the sta#ng 
decrease described in this sentence.

Choices A, C, and D are incorrect because each misidenti"es the relation-
ship between the preceding sentence and the sentence of which it is a part.

QUESTION 3.

Choice A is the best answer because the singular verb “has” agrees with the 
singular noun “trend” that appears earlier in the sentence.

Choices B, C, and D are incorrect because the plural verb “have” does not 
agree with the singular subject “trend,” and the relative pronoun “which” 
unnecessarily interrupts the direct relationship between “trend” and the verb.

QUESTION 4.

Choice A is the best answer because it states accurately why the proposed 
clause should be added to the sentence. Without these speci"c examples, 
readers have only a vague sense of what “nonprint” formats might be.

Choices B, C, and D are incorrect because each represents a misinterpreta-
tion of the relationship between the proposed clause to be added and the 
surrounding text in the passage.

QUESTION 5.

Choice D is the best answer because it includes only the preposition and 
noun that the sentence requires.

Choices A, B, and C are incorrect because each includes an unnecessary pro-
noun, either “them” or “their.” $e sentence contains no referents that would 
circulate e-books.

QUESTION 6.

Choice D is the best answer because the verb form “cataloging” parallels the 
other verbs in the series.
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Choices A, B, and C are incorrect because each interrupts the parallel struc-
ture in the verb series, either through an incorrect verb form or with an 
unnecessary subject.

QUESTION 7.

Choice B is the best answer because it consolidates references to the subject, 
“librarians,” by placing the relative pronoun “whose” immediately following 
“librarians.” $is results in a logical %ow of information within the sentence.

Choices A, C, and D are incorrect because each fails to place “librarians” as 
the main subject of the sentence without redundancy, resulting in a convo-
luted sentence whose relevance to the preceding and subsequent sentences 
is unclear.

QUESTION 8.

Choice D is the best answer because no conjunction is necessary to com-
municate the relationship between the clauses in the sentence. $e conjunc-
tion “While” at the beginning of the sentence already creates a comparison.

Choices A, B, and C are incorrect because each provides an unnecessary 
coordinating conjunction.

QUESTION 9.

Choice B is the best answer because it mentions time periods when the 
free services described later in the sentence are particularly useful to 
library patrons.

Choices A, C, and D are incorrect because each creates redundancy or awk-
wardness in the remainder of the sentence.

QUESTION 10.

Choice B is the best answer because it is concise; it is also consistent with 
the formal language in the rest of the sentence and the passage overall.

Choices A, C, and D are incorrect because each is either unnecessarily 
wordy or uses colloquial language that does not correspond with the tone of 
the passage.

QUESTION 11.

Choice C is the best answer because it restates the writer’s primary argu-
ment, which may be found at the end of the "rst paragraph: “As public 
libraries adapt to rapid technological advances in information distribution, 
librarians’ roles are actually expanding.”

Choices A, B, and D are incorrect because they do not paraphrase the 
 writer’s primary claim.
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QUESTION 12.

Choice B is the best answer because it clari"es that the sentence, which 
mentions a speci"c large-scale painting at the Art Institute of Chicago, is an 
example supporting the preceding claim about large-scale paintings.

Choices A, C, and D are incorrect because they propose transitional words 
or phrases that do not accurately represent the relationship between the pre-
ceding sentence and the sentence containing the underlined portion.

QUESTION 13.

Choice D is the best answer because no punctuation is necessary in the 
underlined phrase.

Choices A, B, and C are incorrect because each separates parts of the noun 
phrase “painter Georges Seurat’s 10-foot-wide A Sunday A!ernoon on the 
Island of La Grande Jatte” from one another with one or more unnecessary 
commas.

QUESTION 14.

Choice C is the best answer because it provides the appropriate possessive 
form, “its,” and a colon to introduce the identifying phrase that follows.

Choices A, B, and D are incorrect because none contains both the appropri-
ate possessive form of “it” and the punctuation that creates a grammatically 
standard sentence.

QUESTION 15.

Choice C is the best answer because an analysis of the consequences of 
King Louis XV’s reign is irrelevant to the paragraph.

Choices A, B, and D are incorrect because each represents a misinterpreta-
tion of the relationship between the proposed sentence to be added and the 
main point of the paragraph.

QUESTION 16.

Choice C is the best answer because it provides a coordinating con-
junction, “and,” to connect the two verb phrases “are characterized” and 
“are covered.”

Choices A, B, and D are incorrect because each lacks the conjunction needed 
to connect the two verb phrases “are characterized” and “are covered.”

QUESTION 17.

Choice B is the best answer because it o!ers an example of an additional 
household item, a “tea cup,” with a speci"c measurement that is one-twel'h 
of its actual size.
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Choices A, C, D are incorrect because, compared to the example preceding 
the underlined portion, each is vague and fails to o!er a speci"c measure-
ment of an additional household item.

QUESTION 18.

Choice B is the best answer because it provides correct punctuation and 
the coordinating conjunction “but,” which acknowledges the possible 
contrast between being “sparsely furnished” and displaying “just as true” 
period details.

Choices A, C, and D are incorrect because each communicates an illogical 
relationship between the phrases that precede and follow the underlined 
portion.

QUESTION 19.

Choice A is the best answer because it provides a clause that is the most 
similar to the two preceding clauses, which both end with a reference to a 
speci"c wall.

Choices B, C, and D are incorrect because each deviates from the stylistic 
pattern of the preceding two clauses.

QUESTION 20.

Choice D is the best answer because the article “a” requires the singular 
noun “visitor,” and the simple present verb “remark” is the appropriate verb 
tense in this context.

Choices A, B, and C are incorrect because each contains either a noun or 
verb that does not "t the context.

QUESTION 21.

Choice D is the best answer because it identi"es the drawers, rather than 
the visitor, as being “dotted with pin-sized knobs.”

Choices A, B, and C are incorrect because all three contain dangling modi-
"ers that obscure the relationship between the visitor, the drawers, and the 
pin-sized knobs.

QUESTION 22.

Choice B is the best answer because paragraph 3 o!ers an overview of the 
exhibit and so serves to introduce the speci"c aspects of particular minia-
ture rooms described in paragraphs 2 and 4.

Choices A, C, and D are incorrect because each proposes a placement 
of paragraph 2 that prevents the passage from developing in a logical 
sequence.
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QUESTION 23.

Choice A is the best answer because it correctly completes the noun phrase that 
begins with “sea otters,” and directly follows the noun phrase with the verb “help.”

Choices B, C, and D are incorrect because each separates the noun “otters” from 
the verb “help” in a way that results in a grammatically incomplete sentence.

QUESTION 24.

Choice B is the best answer because the data in the chart show lower sea 
urchin density in areas where sea otters have lived for two years or less than 
in areas where no otters are present.

Choices A, C, and D are incorrect because none accurately describes the data 
in the chart.

QUESTION 25.

Choice B is the best answer because the conjunctive adverb “however” 
accurately communicates the contrast between an environment shaped by 
the presence of sea otters, described in the preceding sentence, and an envi-
ronment shaped by the absence of sea otters, described in this sentence.

Choices A, C, and D are incorrect because each presents a conjunctive adverb 
that does not accurately depict the relationship between the preceding sen-
tence and the sentence with the underlined word.

QUESTION 26.

Choice A is the best answer because the additional information usefully 
connects the carbon dioxide levels mentioned in this sentence with the 
global warming mentioned in the previous sentence.

Choices B, C, and D are incorrect because each misinterprets the relationship 
between the proposed information and the main points of the paragraph 
and the passage.

QUESTION 27.

Choice D is the best answer because it o!ers the verb “suggests” followed 
directly by its object, a that-clause, without interruption.

Choices A, B, and C are incorrect because each contains punctuation that 
unnecessarily separates the study from its "ndings—that is, separates the 
verb from its object.

QUESTION 28.

Choice A is the best answer because it accurately re%ects the fact that sea 
urchins “graze voraciously on kelp,” as stated in the "rst paragraph, and it 
also maintains the tone of the passage.
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Choices B, C, and D are incorrect because each o!ers a term that does not 
accurately describe the behavior of sea otters.

QUESTION 29.

Choice C is the best answer because the possessive singular pronoun “its” 
corresponds with the referent “kelp,” which appears later in the sentence, 
and with the possessive relationship between the pronoun and the “terres-
trial plant cousins.”

Choices A, B, and D are incorrect because none provides a pronoun that is 
both singular and possessive.

QUESTION 30.

Choice C is the best answer because it provides the noun “sea otters” to 
identify who or what “played a role.”

Choices A, B, and D are incorrect because each provides a pronoun that 
makes no sense in the context of the paragraph and the passage, which 
is about the role sea otters play—not the role scientists play or the role 
kelp plays.

QUESTION 31.

Choice D is the best answer because sentence 5 indicates that sea otters’ 
importance in decreasing atmospheric carbon dioxide was not known, and 
the sentence to be added indicates that a surprise will follow. Sentence 6 pro-
vides that surprise: sea otters have a large impact on the amount of carbon 
dioxide kelp can remove from the atmosphere.

Choices A, B, and C are incorrect because each interrupts the logical %ow of 
ideas in the paragraph.

QUESTION 32.

Choice B is the best answer because its clear wording and formal tone cor-
respond with the passage’s established style.

Choices A, C, and D are incorrect because each contains vague language that 
is inconsistent with the passage’s clear wording and formal tone.

QUESTION 33.

Choice D is the best answer because it provides punctuation that appropri-
ately identi"es “removed” as the de"nition of “sequestered.”

Choices A, B, and C are incorrect because each contains punctuation that 
obscures the relationship between “sequestered,” “removed,” and the text 
that follows.
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QUESTION 34.

Choice D is the best answer because it provides a conjunction that correctly 
identi"es the relationship between “a practice” and the actions involved in 
the practice.

Choices A, B, and C are incorrect because each contains a conjunction that 
miscommunicates the relationship between the text that precedes and fol-
lows the underlined portion.

QUESTION 35.

Choice A is the best answer because it provides a comma to close the 
appositive clause “a practice whereby products are designed to have a lim-
ited period of usefulness,” which also begins with a comma.

Choices B, C, and D are incorrect because each provides closing punctuation 
inconsistent with the punctuation at the beginning of the clause.

QUESTION 36.

Choice D is the best answer because it provides an adjective that accurately 
describes the clear “contrast” between products “designed to have a limited 
period of usefulness” and those “produced to be durable.”

Choices A, B, and C are incorrect because none provides an adjective that 
appropriately modi"es “contrast” in the context of the paragraph.

QUESTION 37.

Choice A is the best answer because by mentioning the “specialized” meth-
ods used in repair shops, it suggests that repairing goods is seen as a spe-
cialty rather than as a common activity. $is connects logically with the 
“rare” repair shops introduced just before the underlined portion.

Choices B, C, and D are incorrect because none provides information that 
supports the claim made in the sentence.

QUESTION 38.

Choice B is the best answer because it provides the correct spelling of the 
noun “fair,” meaning exhibition, and uses the correct word “than” to create 
the comparison between a “fair” and a “café.”

Choices A, C, and D are incorrect because each contains a misspelling of 
either “fair” or “than.”

QUESTION 39.

Choice C is the best answer because it o!ers a relative pronoun that prop-
erly links the noun “Martine Postma” with the appropriate verb “wanted.”
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Choices A, B, and D are incorrect because none contains a pronoun that is 
appropriate for the referent and placement of the clause.

QUESTION 40.

Choice D is the best answer because it provides the most concise phrasing 
and links the sentence appropriately to the previous sentence.

Choices A, B, and C are incorrect because each provides an unnecessary 
adverb that obscures the relationship between this sentence and the previ-
ous one.

QUESTION 41.

Choice D is the best answer because the gerund “waiting” corresponds 
with the preposition “for” and the present tense used in the rest of the 
sentence.

Choices A, B, and C are incorrect because each contains a verb form not 
used with the preposition “for.”

QUESTION 42.

Choice C is the best answer because it appropriately places sentence 5, 
which describes the places Repair Cafés can be found today, between a sen-
tence that gives the "rst Repair Café’s location and purpose and a statement 
about current customers and how they use Repair Cafés.

Choices A, B, and D are incorrect because each creates a paragraph with 
an inappropriate shi' in verb tense and, therefore, an illogical sequence 
of information.

QUESTION 43.

Choice C is the best answer because it accurately states that the issue of 
“corporate and service-based jobs” is not particularly relevant at this point 
in the paragraph. $e focus here is on repairing objects in a “throwaway cul-
ture,” not jobs.

Choices A, B, and D are incorrect because each misinterprets the relation-
ship between the proposed text and the information in the paragraph.

QUESTION 44.

Choice D is the best answer because the phrase “and other countries” 
communicates the fact that there are additional items not being named 
that could be added to the list; no other wording is required to clarify 
that point.

Choices A, B, and C are incorrect because each presents a word or phrase 
that results in a redundancy with “and other countries.”


